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B | T fERAR 1597 | 46 | 44 | 90 (204|696 | £AEHTL—H 1K &3y T%2000M 5
R | 2841 =5 B 42 | 40 | 82 |108|71.2| £BFEEITL—H 11 &3y T #2000 5
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M | 194z AR EH | 42 | 46 | 88 | 16.8| 71.2 | FL—oriav T %1000 S 18R &R H%14K
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9f | 584 SE XA 52 | 50 | 102 | 30.0 | 72.0

1062 | 94 |=7e>| UA RSB | 46 | 41 | 87 | 144|726 JEfL 2 TNP: 23T %500/ 5

11462 | 1942 A =# | 41| 46 | 87 | 144726 XXIO 14 —X

124 | 2041 e g | 38 | 42 [ 80 | 72 | 728

1362 | 3 WA BT | 39| 41| 80 [ 72 | 728

1441 | 484 A+ EE | 54 | 50 | 104 | 31.2| 72.8 | FL—ori 3y T %1000 53248 & K1) 2 V%111
154 | 364 BH E 40 | 45 | 85 [12.0(73.0

1642 | 104 PR 1SR | 42 | 43 | 85 [ 12.0( 73,0

1741 | 154 |=7E> = I& 43 | 42 | 85 [12.0( 73.0 |3y 7 #2000 % JEHLLTNP: 3y 7 #5005
18 | 204z |=7E>| LG F/7° | 41 | 43 | 84 | 108 73.2 JIEL % TNP: 23w 7 %500 5

1961 | 234z ALt ## | 46 | 44 | 90 | 16.8| 73.2
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2241 | 364 R BA | 47| 49 | 96 | 228|732
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2441 | 3 fBiT % | 42| 47| 89 | 156|734
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304 | 244 WA & 47 | 46 | 93 [ 192|738

3162 | 304 [=7e>| HAF BBZER | 44 | 42 | 86 [ 12.0] 740 JE{L 25 TNP: 23T %500/ 5
326 | 4741 ZH RX | 49 | 43| 92 | 180|740 | FL—ori a3y T %1000 73188 & K1) D %:24K
334 | 134k ’l A 41 | 44 | 85 | 108 | 74.2

344 | 204z INTE F0A | 40 | 45 | 85 | 108|742

356 | T4 it M | 44 | 40 | 84 | 9.6 | 744 23y 7 #%:2,000M 5
364z | 354 [=7Ex| KB\ BB | 43 | 47 | 90 | 15.6 | 744 JEHL 2 TNP: 23T %500/ 5
376 | 6941 N RS | 45 | 45 | 90 | 15.6 | 74.4

38HL | 1441 s = 46 | 43 | 89 | 144|746 YAVIRERY v— SEIRE
396L | 2741 ZA B2 | 46 | 55 | 101|264 | 74.6
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574L | 604 & fi— | 51| 53 [104([276] 764

584 | 50 o =83 | 50 [ 51 [ 101 240|770

5941 | 244 A B 47 | 52 | 99 216|774 TL—oriay #1000 524K
60GL | 454 P #H— | 47 | 52 | 99 | 216|774

614z | 50z 7z E 50 | 49 | 99 216|774

624 | 404z AN BER | 48 | 49 | 97 [ 19.2] 778 M IRE3 FEYH

631 | 484 At JTHE | 52 | 51 | 103|252 77.8

644 | 55%i FAafy BEX | 53| 56 | 109]30.0]79.0




654 | 7041 tHE #F | 54 | 53 [ 107 | 276|794 Ey9 b =byd XL

6661 | 554 PR EIE | 46 | 47 | 93 | 1327938

6742 | 524 = & 52 | 53 | 105|252 79.8

6861 | 504 KE BEF | 51 | 53 [ 104240800 |FL—orlavF#1000M 5 14k & K1) 2o %24k
694 | 554 =X E— | 59 | 51 [ 110 30.0] 80.0
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1341 | 754 |=7e>| HHE #Z | 56 [ 57 | 113 [30.0( 83.0 JEHL 24 TNP: 23T %500/ 5
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255 A#t FE | 54 | 50 | 104 EHENTL—H 1K & 3T #2000 53

B BRE FEF | 42| 47 | 89 LAFEITL—H 1 &3y T#2000H 5
3L @R FOF | 40 | 42 | 82 TL—ord 3T #1000 53248 & R %138
AfL £&F TS |43 45| 88 TL—ordav #1000 514 &R S %11k
54z iR EB3E | 42 | 43 | 85 TL—ord 3y T #1000 214 &R 5138
641 FN XF | 45| 45 | 90

741 AR BER | 48 | 49 | 97

BB EH #F | 54 | 53 | 107 TL—ord 3y T 1000M 3 14 &R 5138
9fiz X¥E EF | 51 | 53 | 104
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1 SE =W TL—ori a3y T %1000 53248 & R %1%
2 XE BR TL—orl a3y T #1000 5248 & R D %148
3 XE EBEF TL—orl a3y T #1000 5248 & R 2D %131
4 N FDA TL—oriayT%1000M 524K & R 1) V%514
5 Bl BX TL—ori 3y T #1000 53248 & F 1 %148
6 #E IEWH TL—ori 3y T #1000 53248 & F 1 U %148
7 EV. = TL—ori 3y 7T 1000M 528 &R V514K
8 B4 AR TL—ori 3y T #1000M 53248 & F 1 %148




9 PR X TL—ori 3y T %1000 53248 & R %11
10 AE F TL—ori 3y 7% 1000M 228 &K1 014K
11 R IR TL—ori 3y T %1000 53248 & R %14
12 =t & TL—ori 3y T %1000 53248 & R %148
13 HE = TL—ori 3y T %1000 53248 & R %148
14 KXHEE B— TL—ori a3y T %1000 53248 & R %1%
15 g B= TL—ori 3y 7 %1000 53248 & R %1%
16 A REAl TL—ori 3y T %1000 53248 & R %1%
17 IR BE— TL—ori a3y T %1000 53248 & R %1%
18 aR EKE TL—ori 3y T %1000 53248 & R %1%




